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1 R 360104 #%%%x%x0429 71.8 29
2 [ 45 360122 %% xkxx%x3027 56. 8 98
3 222 362401 xxwxnnxx4043 65. 3 56
4 oz 362202 %% x#x%%x2024 74.17 13
5 BB 360104 #%x%x%%0429 66 54
6 W4 362202 k% xxxx%2042 68. 8 42
7 K. 36068 1xwkxnsnxx(022 73.2 19
8 ¥ 360311 #%kxxxx1042 60.5 82
9 ) 430406 %x%x%%0529 59.3 90
10 RIS 362204 % xxxxx848X 75.5 9
11 ¥ ¥ I 360104 #%%%%x%%0420 52.5 113
12 E BT 362427 #xxxxkx%002X 69. 3 39
13 S RLES 360124 %x%x%%3926 57.8 97
14 A 3R 362201 #%xkxx%x4628 63.2 67
15 3k 362203% %k xx%%6628 71.2 32
16 BT 3% 3622264 %k#xx%x1225 75 11
17 % 7+t 340881 x#x %5532 56. 5 100
18 I #] 360111 #%#x%%x3020 54.17 101
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20 IRV 410726%%%x%xx%4626 59. 8 86
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23 BED 360102 %% xkxx%x4829 46 118
24 R R 36240 % #xnxn%x2843 63.3 66
25 fE 2 2 360122 %% #xkx%x(029 60 84
26 KAk 3% 3625265 xxkkxxx(0022 52.8 111
27 MT=E 360124%%xxxxxx542X 53.8 106
28 R 360428% % xxx%x(027 61 79
29 By 41032 3#%xxxx%%0549 63.7 63
30 kEHEE 360281 %###%x%%3628 54.3 104
31 Z2E B 360902%%xxkxxx3423 70. 3 35
32 L 330821 %#x#x%%%x2883 71.5 31
33 R 362421 xxxxxkxx(0420 66. 2 53
34 1+ 36232 5%k xkxx%x1927 58 95
35 =i 130128 ###%%%x1822 48. 3 116
36 =T 360102 %x%x%x0045 74.8 12
37 k3 500236 #*+%x%%4581 78.5 7
38 VRV 342601 % #x#xx%x5020 71 33
39 B EZ 130722 %%k xx%x1122 61.5 77
40 & 5 360428% %k xxxx0045 74. 5 14
41 T 360122 %% x%xkx%632X 73.5 17
42 X F K 362427 #xxkxnxx(025 73 20
43 FiEE 4113255 % %x%x%x%0000 53.2 109
44 2K B 4114025 %% %x%x%824( 62.7 71
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45 #E =z 360727 ##xkxx%x1829 64 62
46 ZHE 362432 %% xxkxxx5021 69. 5 38
47 B A 421022 % %% xx%%2469 62.2 73
48 AR 360726%%x%xx%x0967 65 58
49 S 360123 #%xkxx%x0049 51. 3 114
50 HE 360281 % #x%%x1329 54.5 102
51 3 360602%%xxx%xx152X 61.3 78
52 kE 360124 %% x#x%%x(628 80. 2 3
53 ET 362204 xxxxxx%(0148 54.5 102
54 TEE 360428 %% x#x%x%x0060 68.5 43
55 By o 4503055k xxkxx%2527 68.5 43
56 ik 4 36031 1#%xxkxxx(585 75.2 10
57 945 9 360727 %% kxkx%%2825 73 20
58 H= 360321 ##kx%%x5029 80. 8 2
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71 SRR 360103 #%kx%%x5425 67.8 46
72 F 41 F| 360111 #%xkxx%x(0922 63.7 63
73 A 362526%%x#xx%x(022 47.8 117
74 F 44 411081 *+#%%%x%9221 72 27
75 AR 360103%x%xxxxx1221 53.5 107
76 WA 360102 #%%x%x4325 61.7 76
77 TR 362302 %%k kxx%%(522 56. 7 99
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79 JE 5= 362330%xkkkxxx1107 67.3 50
80 JE 3601 03%k%%xxxx3422 41.3 119
81 " 360425 %xkxx%x2024 67.5 48
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83 & 360124 %% k%xk%x4823 70. 5 34
84 SFERE 360102+ #xx%x%x827 63.2 67
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92 e 36031 1xsnxnnxxd (41 64. 5 59
93 7 360111 xskxxxx3023 71.7 30
94 N E 36232 3% kkxnnxx5127 70. 2 36
95 oA 36052 xxsknnnxx5543 76 8
96 4R 3604025 % wkxx5(022 58 95
97 5 07 Y 140427 #%#%x%%%(0025 69. 2 40
98 x| & ¢ 433122%#%xkxx%1029 72 27
99 B F % 360428 #xxxxxx1829 52.8 111
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102 P 7 X 341281 xxxxnnxx1021 72.8 24
103 T 360103 #%xxxxx(768 69. 7 37
104 i 360121 %#xxnxxx5526 60. 8 81
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107 RER 360121 xwkxnxxx5528 74. 3 15
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109 ¥ % 1 420881 %% xxxxx%(0024 66 54
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117 362202% %% xsx%%]132( 72.2 26
118 36011 T #nskxnskxx2126 54.2 105
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